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Exercises
y=xisa solution of
d ay _ ax Q + 4y =0,

dx dx
dependent solution by reducing the order. Write the generaj |

{. Given that

find a linearly in
solution.

7. Giventhaty =X+ { is a solution of

2
(t+1)2—---3(x+ 1)-—-—-+3.V 0,

find a linearly independent solution by reducing the order. Write the genera

solution.
3. Giventhaty =xisa solution of

d’y  dy

2_|)—5 —2x-—+2y=

=D %dx Ry =5

find 2 linearly independent solution by reducing the order. Write the genera

solution.

4. Given that y = x is a solution of
. d¥y d
2 _ y
(x2—x+ 1)—dx’ —(x* + x)_dx +(x+ 1)y=0,

fo ugomhmdy independent solution by reducing the order. Write the general

S. Given that y = ¢%* is a solution of
_ d?
(2x + 1)"—-}21' ~4(x+1) :—i +4y'=0,

find 2 linearly inde .
Pty pendent solution by reducing the order. Write the gencral

6 G‘mm"?=x’isasolution of

o2 e SEIY
) —(x? 4 22 — 2y W
dx‘ (%7 + 2x? .2x)a—;+(2xz+2x_2)y=0'

© find 2 linearly ‘indepen
solution, fent solut;

on by reducing the order. Write the ge:neﬂ‘j
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